Question Paper Title : FG_16

Date of Exam : 18-06-2019 02:30 PM

Reference ID:(31932) YR AP HIUY U&IT 3{ehef Il Sgd (1 T 2019 sily?

A i g
B.HHIg R
C.T[CITH Hdt 3G
D .XTgd gt

Answer: D .XTgd gt

Reference 1D:(30138) Find the meaning of the highlighted word in the sentence: Despite losing his job, he
was jovial.

A.Unhappy
B.Dejected
C.Jolly

D.Brave

Answer: C.Jolly

Reference 1D:(29884) Pick the right antonym for the word:
lanky
A.bulky

B.gangly

C.thin



D.pleasant

Answer: A.bulky

Reference ID:(23441) AT T Year AT Req; 3feswT.
ASTY
B.UY
C.fae

D. T

Answer: ASTY

Reference 1D:(28387) Find the meaning of the highlighted word in the sentence: He feigned iliness to
avoid travel.

A.Stimulated
B.Acquired
C.Pretended

D.Excused

Answer: C.Pretended

Reference 1D:(17380) 0.75+2.75+3.25-(2.75+3.5-4.75+ 0.5)



A.13.25

B.13.85

C.13.75

D.13.35

Answer: C.13.75

Reference 1D:(20244) T HIUY T ORIIREA gd faR 12 fob . 3rerdl.

T dl SIdics goad! 31101 5 o5 1. arerdl.

T @ Ioididhs daad! 3T 1 fob. A, arerdl.

T @ Ioididhs dadd! 3foT 7 T /. arerdl.

T dl IodihS gaddl 30T 4 o5, 1. arerdl.

T dl Iolaiebs gaddl 3T 3 fos. =Y. arerdl.

W ) Sdidhs gadl T 5 fob. 1. Araal.

W ) Sdidhs gl T 1 fo. 1. Al

dl T TRTARYA foabedt g 31182

A4 b A,
B.2.5 {5 Hl.
C.2 f& .
D.3.5 fob H.

Answer: A.4 T =Y.

Reference D:(21460) SR ZUCHINNI BT ¥1s& BWEJKPPK 3/8d, TR PERSIMMON 8T ¥eg 3.

A.RGTUKOOQP

B.RGTVLOOQP



C.RHTUKOOQP

D.RGUUKOOQP

Answer: A.RGTUKOOQP

Reference ID:(16899) 8/20 + 3.5-5/25="7

A5.175

B.4.975

C.3.7

D.4.225

Answer: C.3.7

Reference 1D:(17126) T Tafaiie! g1 sHHiGET Tafd HIdT ST 31g?

A.450 d 35%
B.1700 dT 1/4
C.0.35 x 900

D.1100 T 2/5

Answer: B.1700 dT 1/4

Reference ID:(26285) Tt HIuTdT UToT Fald HIddT dRedT JibHiasia [MBIERT WIoh 31g?



A
B.Ri®RT

C.die}

Answer: INGISEIE]

Reference 1D:(17607) 3.25+3.55+4.75-(3.5+10-25+4) =

A.-3.45

B.-4.9

C.-3.7

D.-4.15

Answer: A.-3.45

Reference 1D:(20979) ATfeidbaid RS ST R UT . RQ

AW
B.P
CV

D.S

Answer: D.S



Reference 1D:(33185) $f$dT 2020 - T fgsH B § g fafam g gxds vl feifga?

ALY 3fsgd Had
B.3{R & W&HTI
C.gRrad &

D Rg . get

Answer: ALGS Sfog ] helH

Reference ID:(30873) Identify the figure of speech in the following sentence: The thunder grumbled like an
old man.

A.Metaphor
B.Simile

C.Personification

D.Oxymoron
Answer: C.Personification
Reference 1D:(28614) Pick the right idiom which fits into the sentence: He’s caught asto

whether he should accept his brothers’ invitation

A.Turning a new leaf
B.Eating a humble pie
C.Between the devil and the deep blue sea

D.Burying the hatchet

Answer: C.Between the devil and the deep blue sea



Reference 1D:(26282)

Answer:

Reference 1D:(26289)

Answer:

Reference 1D:(19739)

Answer:

WU PV YeheuRd VIR MBI Al e iadra?

AfRE
B.lide
C. IR YT

D.{H1

AfRE

HRATd YTTaRur TR&UT BRIl T TR e,

A.1980
B.1986
C.1970

D.1999

B.1986

"FITSAT I, TR AToiEe o a1 g uftan 3 et Siurdr o 3Ns@r?

A3 JTSTHT T[0T SRIUMRT ATV SR §eTs ARGl

B. T HIATU&T 101 HATeTd SR o HR0]
C.TdT HIUY ST ol

D.fe=maTd 8RR &R0

BTG ST 01 SHrafard SIRd &g Ho)



Reference 1D:(27044) Find the meaning of the highlighted word in the sentence: We give to charity
because it appeases our guilt.

A.Increases
B.Provoke

C.Encourage

D.Satisfies

Answer: D.Satisfies

Reference 1D:(18496) I 3Hiec Hes Wal." § a9 ag HHUT TARTd FTUiaid dedTy IRg Jaiyg HIurdr
3T?

AT 3fidc hos Ted]

B g 3ffdc hes @Il Tial

C JHM 3dc Bhos Wadd.

D 3H 3{idc Hhos WIS, bl

Answer: C . AN 3§ s WIddd.

Reference D:(24430) WTedUe! TR T8 &g araTd uaig fAast.

AUTSHY Ug ANTeTaR ferqugi-t SISt SH1siy dde,

B.dcrAT af¥hicgard T SRihH dedr .
C.gdd T4:XRd i1 3R gl
D. AT 3= FRifsReffiewt ue gl




Answer: AUTSHY UG ANTeITaR e ugi-t TSt SH1siy dde,

Reference ID:(17634) 15 =41 1/6 + 50 =4I 60% <A1 200% + 0.25 x 150 =

A.101.5
B.102
C.100

D.99.25

Answer: C.100

Reference 1D:(18215) afSarmel U3 aesul
gTPT eTfhd YTaTaR B el USUS.
& HIAUFTA AABR HIUCT?
A 3Yf=arg
B. 3l
c.yifad =

D. &

Answer: B.Jde&

Reference 1D:(16545) R @ 318 "HIIHR' 31T § 31T [UNHR’, TR WU qaid HIdT Uarg HIurd 3g?

A.39@5
B.4.25$2.5
C.31@4

D.2.75%2.5



Answer: B.4.25%$2.5

Reference 1D:(19993) T AT Vecr FHHAT Weg 3.

AZTS

B.1d

cds

Answer: D.aﬁ?ﬁ

Reference ID:(33181) VST YT HIOTAT QI G =TTl HTHT 3HTg?

A MR 3107 gtfeesa=
B.HRd 3101 A

C.HIRd 3101 ”THR
D.YRd SHTOT SBIORAT

Answer: A.HR 30T U™

Reference 1D:(22577) Wit Fatd dg Tafg HIvrr 3R 2

A25+22-15+42+12-203 +45+ 27

B.28 + 27 -25+32-21+ 204 -44 - 37



C29+22-215+42+ 31+ 203 +45 + 27

D.38 +207 -25-32-21+ 204 -44-37

Answer: A25+22-15+42+12-203 +45+ 27

Reference 1D:(29122) Pick the right meaning of the highlighted word in the sentence:
Corporal punishment should be kept within limits

A.A form of physical punishment
B.A form of mental torture
C.A punishment given out by someone from the army

D.A ghostly form of punishment

Answer: A.A form of physical punishment

Reference 1D:(26281) TTeaUD ! YR ST Gaiga SEre Hifead Aidr a1 bl Hel A ST
ST 31T8?
2. YR WRIaR IR
R. hadled AP IM, AR
3. FedId WIR, ferr=d U

¥. e W), AR

A8 SR
B.3 3Nfor ¥
C.R 3Mfor ¥
D.g 3for ¥

Answer: CR 3TfoT %

Reference 1D:(28133) Find the meaning of the word:: Compel



A.Urge

B.Discourage

C.Block
D.Halt
Answer: A.Urge
Reference 1D:(30392) Pick the correct meaning of the highlighted idiom: In my neighborhood there is a

decent house which is let out.

A.To study one’s surroundings
B.To allow to go free
C.To prove of worth

D.To lease on hire

Answer: D.To lease on hire

Reference 1D:(33186) HERIPTAS eieiudb! HIvIdT foTeg] hod! STGATd Udh SHHIPBIAR 3MTg?

A 3RTTETG

B.gaemn
C. 1%

DASEHIC)

Answer: D. Sl d

Reference 1D:(31931) ST &H-Jagi=T AT 3rfeied] Teb R 3ciet s HRATAT 1T IPTY MG/
SHIRUITT HTd?




A DTSRI AT I

B.FiR w8t 3=

C.BRIENT ol THIRTY

D.dgIdiTd HIRTY
Answer: A DTHRI IEIT I
Reference ID:(24657) gTdTe arerd ReeTH ST HRUg 9afd 3 e, Adsl.

IRI WIUIR AT Gd GUIR 3R TH 07 ... 3Te.

ATl
B.=ferd
c.ggfed

D U icerd

Answer: Agferd

Reference 1D:(29857) Pick the Synonym for the word:
eminent

A.Famous
B.Minor
C.Average

D.Unsung

Answer: A.Famous



Reference 1D:(28641) Pick the right idiom which fits into the sentence: When Vasant lost all his money, his
relatives and friends

A.Hung him in balance
B.Caught him red handed

C.Let the grass grow under his feet

D.Gave him the cold shoulder

Answer: D.Gave him the cold shoulder

Reference 1D:(22803) TR $ 3] '+ 3T @ 3R '—', TR WeliaUSD Jaid HIaT Gufg HIurar 31g ?

A52$55$32@75@ 105$ 83 @ 42 @ 57
B48$17$52@35$156 @ 104 @ 44 @ 71
C19@15$12@45@ 36 $ 103 @ 42 @ 107

D44 @67 $52$35$56 @ 104 $44 $ 13

Answer: D44 @67 $52$35$56 @ 104 $44 $ 13

Reference 1D:(30619) Pick the correct meaning of the highlighted idiom: My difference with him has now
come to a head .

A.Come to some sort of conclusion
B.Come to an end
C.Be in a state where it can be resolved

D.To reach a point of crisis

Answer: D.To reach a point of crisis



Reference 1D:(21714) SRA=1,B=2,C=3,....Z =26, R T U DIV 7T SRR 3Mg?

A{B+A+L+L}={L+1+K+E)
B{B+A+L+L}<{L+I+K+E)
C{B+A+L+L}>{L+I1+K+E)

D{R+E+D}={H+A+V +E)

Answer: B{B+A+L+L}<{L+I+K+E}
Reference 1D:(30111) Find the meaning of the word:: Invincible
A.Stoppable
B.Vulnerable

C.Transparent

D.Indomitable

Answer: D.Indomitable

Reference 1D:(24684) gYTde araaTd RepTH) ST YRuary gafd arg Weg fAasT.
AU STSETSE AgHd 7 ... HRUMT U1 98d 3.

A fadiuf
RIGEAY]

C.3irof
D.3{gauf

Answer: Aﬁ'QPFUf



Reference 1D:(30900) You’ve been given a simple sentence. Select the appropriate complex sentence
from the options below.
She loves her country’s culture. She loves her country’s weather.

A.She loves her country’s culture and she loves her country’s weather
B.She loves her country’s weather as much as its culture
C.The weather and culture of the country Is both loved by her

D.The love she feels for her country’s weather and culture is well known

Answer: B.She loves her country’s weather as much as its culture

Reference 1D:(28106) Find the meaning of the highlighted word in the sentence: Her chatter was starting
to annoy him.

A.Appease
B.Charm
C.Irritate

D.Cheer

Answer: C.Irritate

Reference 1D:(26286) TR § ERTARRUIE L)

A.3JSaRiTg yroft
B.g¥axig yroft
C g uroft
DA™



Answer: A.&rqg?ﬂﬂn groft

Reference 1D:(34916) Wk 25 x 13 = 105625, 24 x 3 = 5184, 3T 15x 3 = 2025, dA¥4x9="7

A1120
B.1296
C.730

D.340

Answer: B.1296

Reference 1D:(31928) Har Tl W1 SO B B d BTG HRA HIAUTH HI0TAT SRMH g

Yda?

v

A ddsl

B.grIcS fdhired
C.3iReferan

DACLIE]

Answer: D.Sl4l+d

Reference 1D:(26290) HERIPTAIS HIAT aold HIRUY WU PIurT fSTegld 3fTg ?

A ARG

B.HIdRT



CIUTs

D.HSRI
Answer: B.HIdR]
Reference 1D:(27625) Identify the figure of speech in the following sentence: | will ask the lawyer to give

his unbiased opinion on the case.

A.Oxymoron
B.Metaphor
C.Euphemism

D.Apostrophe

Answer: A.Oxymoron

Reference 1D:(24938) Jeid Aecagga! Iy Teg fAasl.
JURIHRD TETIH!

A Hosdesll
B.dRIdaur
C. S arEt

D. 3 b Ul

Answer: B.aT R Uy

o

Reference 1D:(19485) TYTd faeiedT aIRRRTET IR aT0R 3RIerd aIdd GaTaiae 3ieswdl. Siedid dd °IeH
SIqor

AT STSITaTS dgmvaT RIS Siadid ad =i Sud 319,



Answer:

Reference ID:(18977)

Answer:

Reference 1D:(18469)

Answer:

Reference 1D:(18242)

B.THd® el dRIdid 3id a1 sledid ddl °reld Ueda.
C.3{TST fAWHTATT Sleiid dd °Tefd SU .

D IMRTA I Sleiid ddl T SYedTdes AN 7.

AT fSTeTTaTs, AT fRIGRRIHT Sieid da aTe Siud 319,

QAT e JHN / THNY UHR 35wl

ASINR 68

C.HHYRY

D . qGeY

ASINR &8

QAU BTG IR hdd dIed gl

A RIRET=T AieudTd aHeR Aigd ol
B.3{TdT %! STeX Sl
C. g% ulfigaiel HfeR BR Ui 33,

D.Slae} dedaR 3{Tal TgUH TSl el

D.Slae} dedaR 3{Tal TgUH TSl el

WAt YSHTHITd 9 Srad dTad i,

A ! TR GodRI T YNUITE, ¢t Aty feril wrar aguri=n



B. g Tl b 519 T B, ¥ Rae 1 9 SR1 |

C. T3 TRIS T i Pige | TR srarag o foids |
D.SHTd d g Ulfgd YA | §: 2RI HRUT S &1l

Answer: AT TR o T YN, e:} o il a1 agurn

Reference 1D:(33187) T TP FE" BIS FRRUT 3M1e?

A 3fifsan
B.Uf3H §d

C.HERTY
D.3{gHM 3H1for AeeR

Answer: C.HeRTY

Reference 1D:(31929) AIHaN el JHUDBRT DU T8d?

A THIUT § SUTHTT

B.IYUCH
C.uduy=

D.H ufvug

Answer: A FHTI g SUFHTI



Reference 1D:(20725) WRIT=92,BOY =267,BIG=297, RFLEW=__7

A.6355
B.631414
C.634141

D.61255

Answer: A.6355

Reference 1D:(29630) Pick the Synonym for the word:
obstinate

A.Stubborn
B.Untrue
C.Puzzled

D.Attached

Answer: A.Stubborn

Reference 1D:(33180) IeIder! HIv 3 4rg Ui YR Ui ST afd JIaT HRT g d?

A.STG 3HTOT HepT

B.dig®
C.SaART 3107 FToRt

D.Tg

Answer: B.dige



Reference 1D:(24176)

Answer:

Reference 1D:(22831)

Answer:

Reference 1D:(30646)

Answer:

TTeaUD! BN T Yk We3-aa- SRIcIel eq Sesl.

A MY
B.HIf¥%
C. i
D. TR

B.HIN®

R $ 3R '+ 3T @ 318 ', TR WielidUo! Tafd T8 Uaid wIvrar 3MTg 2

A22@11$72@45$65$13@ 42 @ 57
B118@17$52@35$ 156 @ 104 $ 44 $ 37
C7T9@45@ 162 @45@36$103 @42 @ 17

D.38$107$52$35$56 @ 104 @ 144 $ 7

C79@45@162@45@36$103 @ 42 @ 17

Convert the following active to passive voice: By this time tomorrow we will have
signed the deal

A.Signing of the deal will be done by this time tomorrow
B.By this time tomorrow the deal will be signed
C.By this time tomorrow the deal is being signed

D.By this time tomorrow the deal will have been signed

D.By this time tomorrow the deal will have been signed



Reference 1D:(31127)

Answer:

Reference 1D:(23922)
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FARRISCIAI AT @l gafderar Toieel Wieleddr iomar 387

A ARG

B.3TOI

C.amRm

D.UTefuR

D.UleTelR

Tefidue! fa e Tear SRR Siet 3T,

ATE x 3¢

EENINPEIENIN!

C TG0l x DIl
D.Gﬂﬂ:fx‘l-c[ﬂ)[



Answer: EENINPSIENIE!

Reference ID:(16872) 10/40 +1.5-5/25 =7

A.1.55
B.2.1
C.1.425

D.1.175

Answer: A.1.55

Reference 1D:(33179) Taorg T ®is R 3Mg?

ASTTR
B.3(T

c.fawdt
D.RAsTTe

Answer: Dﬁ?ﬁ@'ﬁl—c{

Reference 1D:(27879) Pick the correct meaning of the highlighted idiom or phrase from the following:
Her house is situated a km from here, as the crow flies

A.In a straight line
B.Go in the direction of the flying crow
C.At a very long distance

D.In a maze and in a jumbled up way



Answer: A.In a straight line

Reference 1D:(27398) Identify the figure of speech in the following sentence: Oh stars, how you twinkle in
the sky.

A.Apostrophe
B.Euphemism
C.Personification

D.Simile

Answer: A.Apostrophe

Reference ID:(21233) SR SUPERDRY 8T ¥sg EPUSYRDR 384 30T COMPUTER 8T Yl PMOCRETU
A, IR GUZZLING BT Ued 3.

A.ZZUGGNIL
B.GUZZGNIL
C.LINGZZUG

D.ZZUGILGN

Answer: A.ZZUGGNIL

Reference 1D:(18723) 3T ¥ ANATHT TATgTa! THIKI glad. IT AaTal HIed HIUIT?

A 1T HidwehTes
B.31qUl HioH &I
C.gul Hiaw®I®
BARGIRNICINEACY



Answer:

Reference 1D:(29603)

Answer:

Reference 1D:(21487)

Answer:

Reference 1D:(33184)

AT Hid® T

Pick the right meaning of the highlighted word in the sentence:
The teachers thought his excuses were more of a parable

A.A fairy tale or story
B.Reality about something
C.Factual information about something

D.To be calm about something

A.A fairy tale or story

SRA=1,B=2,..M=13;:3MUIN=13,0=12, ....

Jafg sRIsR 3M18?

A{J+A+C+K}>{B+A+L+L}
B{U+A+C+K}={B+A+L+L}
C{+A+C+KI<{B+A+L+L)

D{J+A+C+Kl={M+A+C+E)

C{U+A+C+KI<{B+A+L+L)

z

1, R Wi Up HIoTd

TSI I HRAT (National Institute of Nutrition)' Y fRYT 3118,

AdTBE
B. AR

C.TR



D.8%161E

Answer: D.%@'I’@H’qr

Reference 1D:(33178) HIUTT eI MR WTof faedie (Indian School of Mines)' fRUq 3mg?
A S
B.CICTAR

C.Ydlq

Answer: C.Y-dig

Reference ID:(25419) ST} T NeaT Wiellade! Iy Tt favg siies.
A + 3l
B3 + Tl
C.3fd + amdt

D.3fd + 3ral

Answer: C.sﬁf + 3(Ta



Reference ID:(16518)

Answer:

Reference 1D:(20471)

Answer:

Reference 1D:(31926)

HEISIUIA, B, C, D, E 30T F 8 &F I ThHBIHS dIs Hod 990 3Ted. alal
IS TAD! A STOT 3MTed. E 81 HIvidrg! I<AT Riac! SO ATal. D 8T F =T
STl S GU=T HHIBIAR 3R, E o1 AT} Sadl A 8T D T HUNHEE 31T, C 8T F =l
QSIRT 3778, E 3101 C <t ST 3redded bedHdR a1 f[G&Tul E 91 USIRT il
3dIe?

AA 3T B
B.F 3T B
C.A 3MUTF

D Tt BIEIE! et

D Tt BIEIE! et

X o IR fexar die 3me.dl 90 3 Ioidihe doad]. T df 45 3T Ioldidbe gaddl. T
al 180 3 F&d!. T dY 90 3iT Iuldihe dosdl. Vac! dl STAlhS 45 37 gaddl, Tl
W BT ST dig B IHT M8 ?

ASTR TfgH
B.aféfor
C afaror qd

D.3™MR

D.3™MR

GSTTera Iod el SIvrdm 31g?

A TR
B.gTST

C.®ifbeT



Answer:

Reference 1D:(23695)

Answer:

Reference 1D:(33183)

Answer:

Reference ID:(17861)

D.AR

B.dllol

3y T Ve favgrdf wre s,
AETd
B.gUIc

c. gt

D.faa

AEd

daidhs URd oI 3=t gvon Hiof fea?

Al g IRl
B.<HIfdal Bal
c fag®mrg

D .IHH W GRHGY

A X9} egTHe 93¥dd]

42 1112 + 44 =1 25% + 0.30 x 120 =

A.52



B.52.5
C.49.75

D.50.5

Answer: D.50.5

Reference 1D:(17888) X BTY B 175% =t HIT 318 AT Y 8T X § % 8T 3Tg.

A125
B.25
C.66.66

D.63.63

Answer: D.63.63

Reference 1D:(17353) 1.5+55+12+6.25-(5.25-8.75+2.25)=__
A.35.35
B.36.5
C.34.85

D.35.75

Answer: B.36.5



Reference 1D:(26288)

Answer:

Reference 1D:(24911)

Answer:

Reference 1D:(23949)

Answer:

1813 (DDT) Ticiiaus! Hrorer Jareh Faifdrd smg?

A. 30U Ugu®
B.HG 3UUcIg Ugudh
C. 3 Uuc-g UgHb

R R ACRINED

B.Hg 3UUCHY Ugudh

Jeid XequHgNIe! arY e fHasl.
TRTAT YFYE U0 i He 11 I
AH

B.gH

cmer

D.3UcyH

AYH

wrefiate! faeeardl sardt gl sl i,
A.WXW
B.&Td x fadvra

C.dR x 3(YR
D g x ftep

C.dR x 3{YR



Reference 1D:(31933) HERIPTA IHTATATS TR ATcTel WISAUD! HI0Td IRIAR 3HTg?

A IR WRIaR

B.ATISIRT TR
C. AR IR

D.I5HR WRIaR

Answer: A AR TR

Reference 1D:(20217) X 3 qd fe=ia die ofig. i 45 i< Ioidide aesdl. 71 di 90 3 Ioididbs aadl. AT
al 180 3T Toadl. T dY 45 3R Iuldihe doodl. Rac! dl STalhe 90 37X gaadl, Tl
A BT ST dig oA YT 3M18?

ATd
B.Uf&H

C.3™

D.Gf&ur

Answer: C.3tR

Reference 1D:(31930) YRATT AT DHIOTAT SR THad gdi gdal 3178,

ADST

B.grIcS fdhired
C.3iReferan
D ST



Answer: C.Giﬁi%ﬂiﬂ

Reference 1D:(34943) WX 19 (216)12;
25 (216) 9;
d¥ 8 (?)18.
" ] T =Ml

A.126
B.243
C.154

D.231

Answer: A.126

Reference ID:(18750) AU T YdHIes Saiel arad HIvid?

A I gITo5e e,
B. T 31T hel.
C.faA Saur &,
D. D! I

Answer: D.aﬂaﬁﬁ Qch

Reference 1D:(25192) "3RI T ea T Wielarues! arg Heft faug e,
A3 + JadT

B.3 + 3l



C.39 + adt

D3 + 3l

Answer: B.3 ] + 3l

Reference 1D:(20952) i did R ST 4RI A, B, E,C, _,D,O,F, U

AJ
B.F
C.l

D.K

Answer: C.l

Reference |1D:(27371) Identify the figure of speech in the following sentence: The moon is a white balloon.

A.Hyperbole
B.Simile
C.Metaphor

D.Apostrophe

Answer: C.Metaphor

Reference ID:(25165) Qe arardid R Sl Ju=aT Ivg THgeRie Xearl Uaid hHid Hagl.
fARY 3ThTRITd I A ARG ... UTgUTd Teh avTed] Hell 3.

A TB®HT



B.hdU

c.ydf

D.gol

Answer: D.gl

Reference 1D:(26287) DHIRERT 7 (SlTel BI0T) Tk Y 3G,

AR I8 I
B.GTEINTH T-gsild 3{HURUY
C.fom wide It I

D UIIHR AT I

Answer: B.GIEHJIII IJgold HIRTY

Reference 1D:(26284) ENCIERUESIREIC] 3T8.

A. 3T §gd

B. SIS ST §fSehT
C. 3Tl ST Si&T
MENKECIEANEEI

Answer: B.ﬁ?ﬁ%ﬂﬁ%’[ E'%W

Reference 1D:(22249) Wit Fafd HiaT ggfg HIorr 318 ?

A152+65+32-74-105+93-42-37

B.48-17-52-35+156+104 -34 -74



C19+15+42-45-36 + 103 - 42 - 507

D.144 + 67 +52-35+56-104 + 44 + 13

Answer: D.144 + 67 +52-35+56-104 + 44 + 13

Reference 1D:(21206) ATfcrohdtd RepTH SR W] 5, 12,7, 9,9, , 11,3, 13

A.6
B.7
C.8

D.5

Answer: A.6

Reference 1D:(19231) gTd GRIGU. T qTeIRIRTN WIeTeiues! HIordr 31 a1 3mg?

A.STfAuTeR fayrg Saur

B.fasrg de1 WieRw

c.fazn grgan

DY 30T

Answer: DAY Ol

Reference 1D:(28360) Find the word opposite in meaning to the word: Drudgery



Answer:

Reference 1D:(24403)

Answer:

Reference 1D:(28895)

Answer:

Reference 1D:(26283)

A.Fun
B.Slavery
C.Menial

D.Hard work

A.Fun

Glefieiep] SHThRUMTAT 8 S TE-aIE eidl YVeg el

A 3{TehTraTuft
B.UhelbigT
C femfagpa
D . It

D.I®EMg

Fill in the blanks with simple past or past perfect tense of the

verbs: When they ,they __ over their drawings.
A.Had finished.......... handed

B.Were finishing.......... were handing
C.Finished.......... had handed

D.Finish.......... hand

A.Had finished.......... handed

SISI 81 3 -1 ABUIRT Y&l B 3HTecsd glar?



Answer: B. AN

Reference 1D:(30365) Find the word opposite in meaning to the word: Suspect

A.Clear
B.Disputable
C.Dodgy

D.Debatable

Answer: A.Clear

Reference ID:(33182) YR GEId Asaitep! HI0Md Iod HIRT Jafd NS IACH 3Mg?

A 3T

B. ST 31101 HIRER
c.fearaa udw
DAY

Answer: B. ST {101 HIRHR

Reference 1D:(29376) Pick the right meaning of the highlighted word in the sentence:
More often, apparel is grouped by color.



Answer:

Reference 1D:(29149)

Answer:

Reference 1D:(19458)

Answer:

A.A dress or clothing
B.A funny costume used at an event
C.A veil used to cover the face

D.People from specific states or countries.

A.A dress or clothing

Pick the right meaning of the highlighted word in the sentence:
Do not jeer at the misfortune of others.

A.To applause someone
B.To cheer someone
C.To ridicule or sneer at someone

D.To be disappointed with someone or something

C.To ridicule or sneer at someone

Wt TR SO AT AT SR et i,

A.Sfd IdU! - B9 A1gH H1H B0
B.STid gald YUl - HHIUT 9T
C.digTel dig gul - Igcyul dietul

D. S faunt - amerf arent

B.Sfid gald YUl - SHHIuT 9reor



Reference 1D:(27852) Pick the correct meaning of the highlighted idiom or phrase from the following:
It was wrong on his part to fall out with his parents
and leave home

A.To quarrel
B.To look for better accommodation
C.To make use of someone or something

D.To withdraw

Answer: A.To quarrel

Reference 1D:(27017) Select the correct passive voice form of the sentence: The explorers have obtained
the necessary supplies.

A.The explorers obtained the supplies which are necessary
B.The necessary supplies is being obtained by the explorers
C.The necessary supplies have been obtained by the explorers

D.Supplies that are essential are being obtained by the explorers

Answer: C.The necessary supplies have been obtained by the explorers

Reference 1D:(20498) WRJH =2, NB =12, dX KL =

A.-1
B.O
CA

D.2

Answer: A.-1



Reference 1D:(23668) Grefierten! AT et SRR TSt 3w

ATITUTE - BRIR
B 9ff® - HA|
C.gMI - dmY
D.gIc - fave

Answer: ATIUNE - BRIR

Reference 1D:(31927) SIYITT T YRR Al Bt IR Sosd?

A g Tt
B.HaIfd1 At

Answer: C.3[ddH Gl Al

Reference ID:(35170) WTel feoiedr Uamies! 3 Ux UM TR ST 1 fF 3R, SYorar = st & sfieswar?

A.C block 409, Trident Galaxy apartment,
Bhubaneswar

Kalinga nagar

PH 0018003005

B.C block 409, Trident Galaxy apartment,
Bhubaneswar

Kailnga nagar

PH 0018003005

C.C block 409, Trident Galaxy apartment,
Bhubaneswar

Kalinga nagar

PH 0018003005



D.C block 409, Trident Galaxy apartment,
Bhubaneswar

Kalinga nagar

PH 0018003005

Answer: B.C block 409, Trident Galaxy apartment,
Bhubaneswar
Kailnga nagar
PH 0018003005

Reference 1D:(28868) Convert the simple sentence to a complex sentence: He seems to be a good boy

A.He’s seemingly a good boy
B.He is supposed to be a good boy
C.A good boy is what he’s supposed to be

D.It seems that he is a good boy

Answer: D.It seems that he is a good boy

Reference 1D:(31925) YRATd <! udd I $o 3Med?

A 3BT Uex

B.HERIY
C.3RES

D37y TS

Answer: A 3SUIA Teg

Reference 1D:(19966) It faeTTaT Sft w01 Ty 3RS 3T Ugiy 3T
g\ N . i . iV
MR ATHTYET oIl HelldR 31IQSI\31-RS| DRIYT YUT ATATYET ST dlh ¢dx HATHHIR




A.3ISTl 7T Ted W
B. 1A HegR! HeTeT
C. 4 e T s

D.TTSATRIER el ATl

Answer: C. 7 g T s
Reference 1D:(19204) WA el THN / U UhR sl

IRHY

ADHHYRY
B.g%

C.GaHl azy
D. 3{eqIHTa

Answer: C.UTH! dgey

Reference ID:(19712) JaId U1 Ul HRUGMIST Ay Uiy Fael. tRearan 3 fdaw.

Answer: c.aH



